rplaca( x y y ) CHUly AlcHpuLiv LAV iNIiL )

yl=
NIL_PTR return(NIL_PTR)
X==
NIL_PTR
error( "ARG not List ")
Listp (x)
==NIL
x_68k = Addré8k_from_LADDR(x) rp_page =
x_68k->car_field
]
I CDRIIEEN
gclookup(DELREF , cdr (x) ) temp=
gclookup(ADDREF, y) Ac(ierBE:)I;_gf (rao)m_LAD DR
_ CASE 1)

cdr_cell = POINTER_PAGEBASE(rp_page) +
cdr_code = (temp->cdr_code << 1)
Xx_68k->cdr_code

cdr_cell68k =
Addr68k_from_LADDR(cdr_cell)

*(int *)cdr_cell68k =y

CASE 2)
cdr_code
“CDR INDIRE cdr_cell = POINTER_PAGEBASE(x) +
- (cdr_code << 1)
iciLCOde cdr_cell68k =
CTDR MAXINDIRECT Addr68k_from_LADDR(cdr_cell)
(it ")car_ceNGsK = y | CASE 3)
| x_68k->cdr_code = CDR_NIL |
CASE 4)
x_68k->cdr_code =
i PR CDR_ONPAGE +((y &0xff)>> 1)
_ (rp_page=
return (x) POINTER_PAGEBASE(x))
== cons68k=
POINTER_PAGEBASE(y) Addr68k_from_LPAGE(rp_page) CASE 5)
cdr_cell68k=
GetNewCell_68k(cons68k)
cons68k->count--
cons68k->count cons68k->next_cell=
>0 cdr_cell68k->cdr_code

{unsigned mijcar_cel=y |

X_68k->cdr_code
=((LADDR_from_68k(cdr_cell)
-rp_page)>>1)

cons68k = next_conspage()

cdr_ce =GetNewCell_6BK(cons|
cons_68k->next_cell=cdr_cell68k->cdr_code

CASE 6) [oob=CemanCar Gerteancer

cons68k->next_cell=temp68k->cdr_code

CONSBBK->count -=2 |

(int *)edr_celleBk=y |

TempbBK->car_Tield = X_bBk->car_Tield ]
TNT)X_BBK= Trom_| empl

temp_68k->cdr_code =
(LADDR_from_68Kk(cdr_cell68k) & 0xff)>>1

X_6BKk->cdr_code=CDR_INDIREC |




